2
@ cosA:?, tanA = 1 @ cosA:T\/—, tan A = 2
1
® cosA =23, tanA =1 @ cosA =33, tanA:§
@COSAzg, tanA =1
smA—%—gOlﬂimzﬁxﬁnA:GX\g:?ﬂ/ﬁ
ol

w2t cos A = %5 =

V2
2 2

tanA

metats Ao oJa) AC = /62 — (3v2)2 = 3V2 o]t}

_sinA 32
"~ cosA 3v2

1 ot}




SinA = g A ], cosA + tanA 9] FH2? (F, 0°<A <90°)
5 12 23 31 39
D3 @5 95 Wy 9%

B

4 3 16+15 31
cosA+tanA=g+Z= T

20 20




3.

e T 2ol LC = 90° ¢ HZH7I N
ABC A AC 9 ZolE Fdh= 427
B\‘ /c
—_5--
sin 40 ° 5
5sin40°
o oo @ 5 tan 40 °
@5tan40° ® 5cos40°
AC AC
tan40°® = — = —— o]t}
BC 5 et

wteba] AC = 5tan40° o]t}




O 228 B3 A4 7|&719 de x, a O A7y 2t & o,
x+y 9 #= F5tH?

D 16 @ 31 )46 @ 61 ® 91

2
(F42) 7187]) = - =1
tana =1
Soa=45°

oA x4y =1+ 45 = 46 o]t}




0= & A2 ghol dia #A| = &7

U2 AZ BFIEH?
@ sin45° = cos45° @ sin 85° > sin 25°
(@)sin 40° > cos 20° @cos 10° < cos 80°
® sin75° > cos 75°

B

® 0°<x<45° A HHo A, sinx < cosx O|B&2
.. sin40° < cos 20°

.. cos 10° > cos 80°

@ 0° < x < 90° ¢l HYN A= x 9 gto] Z716HH cosx &
21 A 0 7kA] A,




ohg T A0 3hE A4 ) A7k ek Ziole 4tz
< vhaA vebd 2 Bl H BE 12H?
Zte sin cos tan
10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000
50° 0.7660 0.6428 1,1918
70° 0.9397 0.3420 2,7475
89° 0.9998 | 0,0175 | 57,2900
H7]

@ sin20° = 0.9848
© tan50° = 0.6428

1
@) 3 cos70° = 0.8192

© cos45° =0.7071

® 2sin10° = 0.3420

® 3tan45°=3

va0 066 Goe oee 660

B

@sin 20 ° = 0.3420
© tan50° = 1.1918

®2sin10° =2x0.1736 = 0.3472
1 1
@5 cos70° = 3 % 0.3420 = 0.1710




ThS 179 AABC oA AzHH] o] B2 BT AABC 9] Ed0] Zdols
57

10°
// 340
A

Ze sin cos tan

54° 0.8090 0.5878 13764

55° 0.8192 0.5736 1.4281

56° 0.8290 0.5592 1,4826
@® 5.592 @ 8.29 3 13.882
@23.882 ® 29.107

B ~

AB = 10 x sin 56° = 10 x 0.829 = 8.29

BC = 10 x cos 56° = 10 x 0.5592 = 5.592

wtatA AABC o] 99 Zo]= 10 + 8.29 + 5.592 = 23.882
o|ch.




the 293 o] WASY o]

AL

7} 19l ARl The F 59

0,77

0.70F------~ -FN--- ,

0.57F-----Af-cf-m2 o
I\
! 1
A\

y I
(6] 0,40 0,82 1 T

@ sin(x+y) =0.77
® cosy = 0.82

® tany = 0.70

@siny =0.82

@ cos(x+y)=0.40

@ siny = 0.57




45°<A<90° ¥4 ™, \/(sinA - cosA)?— /(sinA — cosA)? & It
3] spH?

23 @i 022 @2 G

45° <A <90° ¥ I sinA > cosA ©| B2
(sinA — cosA) — (sinA — cosA)
=sinA —cosA —sinA + cosA =0




10.

ThS 193 2ol /A 7k M7H1 AABC o BAH A oA BC
Wel 4419 9 D 2 S, D o4 W AC o] Wil S40) L E
g} gttt AE = 4em, CE = 6cm ©]37, /BAD = x, /CAD =y & ],
sinx + cosy 9 #F2?

®» ©
SERE

~&B ~

x+y=90° 0|22
sin x + cosy = sin x + cos(90° — x)
=sinx + sinx

= 2sinx
DE2=4x6=24
.‘.ﬁ:Q\/ﬁcm
CD2 =6x 10 = 60
.'.C_D:2\/Ecm
ACDE ©]|A sinngzﬁz @
CD 215 5
V1o 2410

s.sinx + cosy = 2sinx = 2 X = =5




